






A few more equaƟons: 

ሻݐሺݔ ൌ
1
ߨ2

න ܺሺ݆߱ሻ݁௝ఠ௧݀߱
ஶ

ିஶ
																												ܺሺ݆߱ሻ ൌ න ݐሻ݁ି௝ఠ௧݀ݐሺݔ
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ሻݐሺݔ ∗ ݄ሺݐሻ ൌ න ݐሺ߬ሻ݄ሺݔ െ ߬ሻ݀߬
ஶ

ିஶ
 

 

1. Evaluate the convoluƟon 

ሻݐሺݕ ൌ ݂ሺݐሻ ∗ ݂ሺݐሻ 

Where 

݂ሺݐሻ ൌ ݐ ∙  ሻݐሺݑ

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. Given the relaƟonships 

ሻݐሺݕ ൌ ሻݐሺݔ ∗ ݄ሺݐሻ 
And 

݃ሺݐሻ ൌ ሻݐሺ5ݔ ∗ ݄ሺ5ݐሻ 
 

And that x(t) and h(t) have Fourier transforms of X(ω) and H(ω), show that g(t) has the form 

 

݃ሺݐሻ ൌ  ሻݐܤሺݕܣ
And determine the values of A and B. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. Determine and sketch the Fourier transform of 

ሻݐሺݔ ൌ
sinሺݐሻ sin	ሺ2/ݐሻ

ଶݐߨ
 

Hints: 

(1) MulƟplicaƟon in Ɵme corresponds to ___________ in frequency. 

(2) The Fourier transform pair of a sinc funcƟon is __________. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. (a). Given that 

ሻݐሺݔ
࣠
↔ܺሺ݆߱ሻ 

Express the Fourier transform of y(t) in terms of X(jω), where y(t) is defined as 

ሻݐሺݕ ൌ
߲ଶ

ଶݐ߲
ݐሺݔ െ 1ሻ 

        

 

 

 

 

 

 

 

 

(b). For 

ܲሺ݆߱ሻ ൌ cosሺ2߱ሻ sin	ሺ2/ݓሻ 

Is the corresponding Ɵme‐domain signal p(t) 

(i) Real, imaginary, or neither? 

(ii) Even, odd, or neither? 

Explain your answers / show your work! 
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